O 40 ML= 1

13 Cidl widl Zdl LMot ()7 Mo = A D
5-1 (I Xigiseo] 23t A

O()ytem ()2 my 2+12X6+4-13=7 (2+I12)x6+4-13= 38

AL | L]
72 14
@ 1 cigol S, LikAle

QONEE Atz AL 18 84
® 2 crgof S, e 20 2l
QIOINSE] A2 HARILICE | —
7 8

20+ 30 x 2 = 5 - 20 (20 + 30) x 2 = 5 - 20

27 + 45 =+ 9 x 2 - |2 (27 + 45) + 9 x 2 - 12

90 -+ 5 + I3 - 5 x 6 90 =+ 5 + (I3 - 5) x 6

84 - 2 - 4 + 5 x 3 84 + 2 - (4 + 5) x 3
Ol =10
D[ Raakd

P

© 2348114 st ez rredie xeast ahx MATH FOR ALLkr



	5-1-1 13 덧셈, 뺄셈, 곱셈, 나눗셈과 (  )가 섞여 있는 식 문제



